° v w

* HEZBOEMAS05 LY R T R

10:00

17:00

17:50
18:00

18:20

Z{t 48158 (£)4FH110F

<

5A1H(H)

5A28(A)

* HEHROREN505 Ly AT B

10:50

11:00

5838 (k)

* HEBOERAL0S LY R T R
10:00

ALoT
93R
Sa=7HLHT

*?Xﬁ';d\ﬁﬁiik kBt R

* HEHRQEEN505 Ly R T B

10:00

584H (JK)

R INFEE 1A¥550 EE16%

SiaE OV T I)IRBECWA Rk

* HEBOERAL0S LY R TR

10:00

10:50
11:00

L0 I

<

5858 (K)

FAE~ NP1 FEE

—ROFAHR

o O -y L—FLvry 110 11:10 T2l s2537
154 BEE¥E§%§~{J)\\§%2§53€’G® AR | BACEET RIS KHG | BOZEY SazpHLHT FIEE
N . 12:00 n _ 12:00 [P A
12:10 14 )L—7¥3,300 14 )L—7¥3,300 1210 —REDOARER OVbSE S 12:10 RIAFEHR BDHFR
7]'7[/5919 lFﬁ 13:00 Szaaz 13:00 AFﬁ S195X 13:00 lFﬁ 82751 13:00 %Eﬁk?fx’é;ﬁbﬁiﬁ/\/ﬁ\?
saerine  FEXFCHT TR F=RECHT TR F=RECHT IET TEARI— LR
P TP By _ ] 1350 _an o O E 1350] _ gnyra _ ; IR [
REEHE BOHHE 14:00 BOHHE BOHE 1400 BOHHE BOFHE 1400 BOHHE BOHHE 1a00| R NEELREE 1A¥550 ERCH
14:20 A S193R 420 82552 142007 ), —F Ly R N—FLvRY 40 4za—H5R
T=XIECHT EIE [IEE FiELARD | BAOATYRIELARGD | BROAET] Sa—FREB
og0| —ROFHE —BOKRE 1s00| —HROFHE —BOFREZ 1s00| 177¥A0 | 17—T¥s300 tog0|  MEERZ INEER R
15:40 A4TO0—55R | O IL—FLyRY L—TLwRy 1540 A S193%
Ua=7ER FEHAME | BACEFTRIELANGE | BACAET FT=XECHT EIE
16:40 —BOARE INBEXR INEERR 16:40 14 )L—7¥3,300 14 )L—7¥3,300 1‘66;28 —RBOAERER —fROARR
AP S195% 17:00 17:00 A S193%R 170045 ), —F LY RN IW—FL IR
T_RIECHT EIEA 7 T=AECHT IR RELAKE | BA6ETRELARD | BAOAET
—BOFHE —BOFHE INFERR 1800| —HROFHE —BOFHEZ jooa| —BOFHE —BOHRE iso0| 17700 | 15—7¥aa00
18:20 A 4x0—455z| 80 51452 U184952 18201 59452
TRAELHT Caz7ER DR S
— o, — 19:10 — N=) 3 — 3 = A3 — . — 5 — A, . = A
BOFHEZ BOARR 1920 BOHHE INSHER S 19:20 BOFHEZ hEE R 19:20 BOHHE BOHEZ 19:20 BOFHEZ e
u18ssz | ' s2435z
2 2 S0% : 1 ¥550
TR EER PR EE:£84
hEERR PEERE s040| —HEOFHZ —BOEHER

HIR P ORERII2E DS METESE T ZEFT,

F~A5—Fh




